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Paper1. The Geological Journey of Charles Darwin 

 

Answer Sheet. Circle the right answer. In case of mistake, cross the wrong answer and circle the 

right one. Remember that, even when several answers are right, every right answer means 1 

point; every wrong answer means 0.25 negative points. 

 

1.1.  a    b    c    d    e    f    g    h C 

1.2.  
a    b    c    d    e    f    g    h    i    
j   k    l  

a,b,e,g,i,
k,l 

 

1.3.  a    b    c    d    e    f    g    h C 

1.4.  a    b    c    d    e B 

1.5.  a    b    c    d C 

1.6.  a    b    c    d D 

1.7.  a    b    c    d C 

1.8.  a    b    c    d B 

1.9.  a    b    c    d    e    f    g    h B 

1.10.  a    b    c    d C 

1.11.  a    b    c    d    e    f B 

1.12.  a    b    c    d    e    f    g    h D 

1.13.  a    b    c    d B 

1.14.  a    b    c    d    e    f    g    h    i C, F 

1.15.  a    b    c    d    e    D 

1.16.  a    b    c    d D 

1.17.  a    b    c    d    e     B 

1.18.  a    b    c    d   e A 

1.19.  a    b    c    d A 

1.20.  a    b    c    d B 

1.21.  a    b    c    d B 

1.22.  a    b    c    d    e    f  E 

1.23.  a    b    c    d    e A C (B) 

1.24.  a    b    c    d    e C 

1.25.  A    B   C    D    E    F   G    H B 

1.26.  A    B   C    D    E    F   G    H H 

 

Write again your code: __________________  
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Paper3. Exploring Mars with… Curiosity! 

Answer Sheet. Circle the right answer (except in special questions). In case of mistake, cross the 

wrong answer and circle the right one. Remember that, even when several answers are right, 

every right answer means 1 point; every wrong answer means 0.25 negative points. 

 

3.1.  a    b    c    d a 

3.2.  a    b    c    d     c 

3.3.  a    b    c    d    e    f     e 

3.4.  a    b    c    d     c 

3.5.  a    b    c    d    e    f    g    c 

3.6.  a    b    c    d    e    f    f 

3.7.  a    b    c    d    d 

3.8.  a    b    c    d    e    f     a 

3.9.  a    b    c    d    e    f     b 

3.10.  a    b    c    d    e    f   d 

3.11.  a    b    c    d     c 

3.12.  a    b    c    d c 

3.13.  a    b    c    d     d 

3.14.  a    b    c    d     a 

3.15.  a    b    c    d     b  

3.16.  a    b    c    d    e    f    c 

3.17.  a    b    c    d    e     d 

3.18.  a    b    c    d    e    f      d e 

3.19.  a    b    c    d    e    f c 

3.20.  a    b    c    d    e    f     e 

3.21.  a    b    c    d    e    a c e 

3.22.  a    b    c    d    e    f  g  h g 

3.23.  a    b    c    d    e    f    g     b 

3.24.  a    b    c    d    e    f    g    h    i a 

3.25.  a    b    c    d    e    f    g    h    i a f h 

3.26.  a    b    c    d    e    f    g    h     c 

3.27.  a    b    c    d    e    f    g    h    i c 

3.28.  a    b    c    d    e    f    g    h  af 

3.29.    

3.30.    

3.31.    

3.32.    

3.33.    

3.34.    

3.35.    

Write again your code: __________________  
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Paper4. The Delicate Coastal Equilibrium 

Answer Sheet. Circle the right answer (except in special questions). In case of mistake, cross the 

wrong answer and circle the right one. Remember that, even when several answers are right, 

every right answer means 1 point; every wrong answer means 0.25 negative points. 

 

4.1.  a    b    c    d   b 

4.2.  a    b    c    d  b 

4.3.  a    b    c    d   c 

4.4.  a    b    c    d  b 

4.5.  a    b    c    d d 

4.6.  a    b    c    d a 

4.7.  a    b    c    d    e    f    g    h a e 

4.8.  a    b    c    d    e    f    g    h e 

4.9.  a    b    c    d    e    d 

4.10.  a    b    c    d    e    f    d 

4.11.  a    b    c    d    e    f     c 

4.12.  a    b    c    d    e    f    e 

4.13.  a    b    c    d    e    f    g    h    i d h 

4.14.  a    b    c    d   b 

4.15.  a    b    c    d    e    f     d 

4.16.  a    b    c    d    e    f    g    h    f 

4.17.  a    b    c    d    e   b 

4.18.  a    b    c    d c 

4.19.  a    b    c    d    e    f    g    h   c d 

4.20.  a    b    c    d c 

4.21.  a    b    c    d    e d 

4.22.  a    b    c    d   c 

4.23.  a    b    c    d    e        c  

4.24.  a    b    c    d    e    f    g    h    d f 

4.25.  a    b    c    d    b d 

4.26.  a    b    c    d  a c 

4.27.  a    b    c    d    e    f    g    h    cfg 

4.28.  a    b    c    d    e    f   d 

4.29.  a    b    c    d    e    f    c 

 

Write again your code: __________________  
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Paper 5. Geo Gymkhana 

Answer Sheet. Circle the right answer (except in special questions). In case of mistake, cross the 

wrong answer and circle the right one. Remember that, even when several answers are right, 

every right answer means 1 point; every wrong answer means 0.25 negative points. 

 

 

5.1.  a    b    c    d    b 

5.2.  a    b    c    d a 

5.3.  a    b    c    d   e c 

5.4.  a    b    c    d  b 

5.5.  a    b    c    d     b 

5.6.  a    b    c    d   e d 

5.7.  a    b    c    d    e   d 

5.8.  a    b    c    d  c 

5.9.  a    b    c    d b 

5.10.  a    b    c    d d 

5.11.  a    b    c    d    e    f f 

5.12.  a    b    c    d a 

5.13.  a    b    c    d c 

5.14.  a    b    c    d    e    f  c 

5.15.  a    b    c    d   d 

5.16.  a    b    c    d   a 

5.17.  a    b    c    d    e    f    g c 

5.18.  a    b    c    d    e    f    g d 

5.19.  a    b    c    d    e    f     b f 

5.20.  a    b    c    d    e    f   d 

5.21.  a    b    c    d    e    f    c 

5.22.  a    b    c    d    e    f    f 

5.23.  a    b    c    d    e    f    b 

 

  



 

5.24.  Draw points in your map --- 

5.25.  
Strike: 
 
Dip: 

N60º or N60ºW or 
N120E or S60ºE 

+/- 5 
20º NE or 20ºN 

5.26.   
Pseudotoucasia 

Rudista 

5.27.  a    b    c    d c 

5.28.  a    b    c    d   e   f   g   h   i c g 

5.29.  a    b  b 

5.30.   22:30 +/- 30 min 

 

Write again your code: __________________  

Name and Family Name: ____________________ 

Country: _____________________ 
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